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Part -1 /wm -
General Knowledge /9= 7+

1. Which of the foltowingf’févolution is related
to the progress of oil seeds products ?

(a) Red revolution
(b) Brown revolution

2. Which Five Year Plan was also known as
“Gadgﬂ Yo;ana E'

P

(c) Fifth Five Year Plari- :
(d) Fourth Five Year Plan

3. When did Gandhiji established the
Sabarmati Ashram ? ="

s d

(a) 1916 A.D. (b)1917 A.D.
c) 1915 A.D. (d')_;‘f_%-‘1918 AD.

4. Which variety of rice 15 suntable for Uttar

Pradesh ?
(a) Deepa (b) Archana

5. Whois the guardian of the fundamental rights
of citizens of India ?
(a) President
(c) Cabinet

',\n

(b)~Supreme Court
(d) Prime Minister

6. What is the name of the 30" chief of the
Indian am'ly ?

rl“

‘...-.

(b) General Blkram Slngh

c) General Manoj Pande

d) General Upendra Dwivedi

*2%

1. Fr= @ sR-t iR e & SRl o W
QY grafa g 7
(a) T ST
(b) =TGRt SHIf=T
(c) TRt Shif

2. BHA-d TEEEE A (el AsEr % |
q o el ot ¢
(b) Tecfta Teadffar et
(CREEIRECLEEIET
(d) sheft Tl e

3. Tiefish 3 QrEREdl SHE h T B
6 ot 7

ey o ot
(c)1915§ e (d) 1918%.

4, g H PA-5 FFw s Tew & o
g R ?
(a) < _

5. R % AN & Hifers SRR I TS

(b) =T
(d) dra

AR ?
@ o
(c) HEiAvE (d) SEwE

6. YR U BT % 30 § FE I
TmR 7
(a) Tshra 3R, ¥R FAR
OERSREELRTH 5

(c) e TN WIS
_




State ? _

(a) Himachal Pradesh .
(b) Uttar Pradesh ot
(c) Odisha

'-'-_ Uttarak - and [

8. Who among the following leaders did NOT
contribute to the formation of the United
Provinces “Kisan Sabha” in 1918 ?

(a) Indranarayan Dwivedi
(b) Gauri Shankar Mishra
c) Madan Mohan Malviya

| (d) Baba Ramchandra_ |

o

......

Zoreal,

9. In which city has “Maharshi Valrmiki
International Airport” been built recently ?

(a) Lucknow (b) Varanasi
(c) Ayodhya (d) Patna. ..

10. -Which of the following city is the I%féédquarters
of North-Central railway ? b
(a) New Delhi

- §i (c) Prayagraj

o

(b) Gorald;ﬁur
(d) Jaipur
11. Cancer is caused by

(a) Uncontrolled meiosis
EISE (b) Rupturing of cells
- H

B (c) Loss of immunity

(d) Uncontrolled mitosis e

12.  Which one of the following pairs of the
scheme and its relation is NOT correctly
matched ?

(a) PM Vishwakarma - Skill upgjadlng

(b) NIPUN Bharat - Education
Mission
(c) PM Ujjwala — Electricity

nitrepreneurship
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7. ‘R O frw TR T B uEe @ 7
(a) e wew

(b) ST wax
(o3
8. 1918% Uy W= ‘‘Foram g’ & e & i
T ¥ g Ja1 =1 dvem @ o 2

(2) TR foady S

(b) T wiewt iy ERER

(c) e We TR

9. Ta A H, “uel arfensh sy T s
ool TR 3 fftfq frm @ 7

(a) &S (b) aTroTEt

10. f=faRea & @ S-w1 7R sab-75 WS =
U HEIEE § ?
(a) 7 foeeh (b) TRER
(d) SEIgR

(c) PR

11. T 1 FHRO 7

(a) FrFrfa st fowmm
(b) HiRHTSAT T g

(c) Trmferierss &mar & =t
Q) s et far |

12, s o Fa de 3 P g § @ e
- g R
(a) di.om. fovampmi - @i 3=
(b) e v e

- Toram E5E

(d)g;-:rahm - SafEr
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13. Who created a secret organization of
revo!utionaries called “Abhinav Bharat” ?

(b) Ras Bihan Bose
(c) Madan Metlan Malviya
(d) Netaji Subhash Chandra Bose

14. Ifx:6::5:3, then the value of x is

Gn] o G
(c) 8 (d) None of these

15. Pusa seedless is a variety of

(c) Lemon (d) Apple

16. Who among the following appoints the
members of Electnon Commission of India ?

El E'I(b) Chief Justice of India
4 (c) Prime Minister
(d) None of the above

17. Golden rice is a rich source of

(a) Vitamin B~ [ (b) Vitamin A
(c) Vitamin K (d) Vitamin C

18. Which city hested the G-20 Development
Minister's Meetlng in India ?

l(az Varanasi I (b) Panjim
(c) Chennai (d) Pune

19. The total surface area of a. hemisphere of
radius 7 cm ES :

(a) 392 nem?. (b) 588 ncm?
(c) 98 mecm? (d) 147 mem?
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13. “‘iRFE WRa TS SR B T T
mﬁm 7

b e g

CEREIGEINIER

(d) SaTSit G g S
14. IR x:6::5:3, 9 X FH HA &

a)10 Lil (b) 9

(0)8 ('”" (d) ST ¥ S5 7E
15. a1 dieew fhe &

(a) 3TrEE | (b) 3R A

(c) g i (d) g« i

16. = o ¥ =9 g & FaT = % e
1 Frgfea s g ?
(b) ¥R 1 & e
(c) SaEh
(d) Swier & & S T

17. 0 9@ T IX 94 &

(a) Torerftm < =1
(c) fafm & =1 (d) ot & =

18. G-20 fem #fEl i S it AT WRT §
fra A A ?

[ g ©
3 EFE
19. 75 foswn ot T AT & T TSI FABS
EIR:ICE
(a) 392 m&i2 - (b) 588 nAH2
'(c) 98 naHI2 (d) 147 &2
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20. What was the name of the female regiment

constituted by Netaji Subhash Chandra Bose
as a part of the Azad Hind Fau1 ’?

(2) Rani Bhawani
The temperature at which the celsius and
Fahrenheit units are equal is
E E_!(a) 100°C
i (c) 40°C

(b) Veerangana

(d) Bharatmata

21.

22. The milk of which of these has hlg"h fat

content ?

:_ (a) Buffalo

(c) Goat

23. The largest salt water lake in ln:igll_a is

(a) Sambhar (b) Loktak_
| (c) Chilka (d) Pulicat

24. The number of sides of a regular polygon
whose each exterior angle has m‘éasure

45° is et
@) 9
() 7 (d) 10

25. Which of the following pairs (Acts of
Uttar Pradesh — Year) is NOT correctly
matched ?

(a) Land Acquisition, Rehabtlltatjon

and Resettlement Act e

(b) The Uttar Pradesh Parks,

E-J Playgrounds and Open Spaces
E"E (Preservation and Hegulaﬂori)

- 2013
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20. %ﬁﬂgﬂﬁar—;{aﬁ‘amm%——qqﬁa%
T o & ®9 § nfsq wfgen Wiie 1 w0
T o 7

(b) =TT
(d) AT

) (a)mﬁ‘ﬂaﬁr

21. qwEm R W Afeew it wRTEEe TR
1 T 99N BT 8, 98 &

(a) 100°C
(c) 40°C -«

(b) 37°C

22. T 9 Toue gy § w@ ) aen s
B R 7

| | (b) T

(d) 5

(c)

23. YRA ¥ @R U g9 59 =i 2

Q) W mem (b) e
[oFe

. (d) gfome

24. T AR, R S sTe o A 450
&, % yeel H gea |

©) 7 (d) 10
25, i HHA-T1 W (ST vew F fiFEm - 9v)

gifera 7@ @ 7
(a) i 3H, Fated 3t

AT 3t - 2013
(b) ST Ve 3TH, T & HeH 3R

G WM (afeer 3iv i)

srterfam llt - 1975
(d) Tae s (fafagma ain fomm)

i

- 2016




26. One horse power is equal to
~(b) 500 watt
(c) 1000 wait
(d) 764 watt

27. Which of the following is NOT a correct

pair ?

State Capital
(a) Nagaland - Kohima
(b) Tripura - Agaﬁéla
! B | = Imphal
d) Arunachal Pradesh — Itanagar

28. Which of the following is a phosphate soluble
bacteria ?
(a) Rhizobium }-_-_;_'
53 El (b) Azolla
(c) Azotobacter

(d) Pseudomonas || -

In how many phases the elections of the
18t Lok Sabha were conducted in 2024 ?

(b) 8
©5
(@6

29.

30. The inclusion of the fundamental duties
of the citizens in 1976 took place on the
recommendations of which of the followmg
Committee ?

(a) Mudaliyar Committee
(b) Tarkunde Committee

(c) Thungan Committee
(d) Swaran Singh Committee
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26. srﬁa%

(b) 5009 &
(c) 1000 i %
(d) 764 T %

27. PR AAIR-TM A TH AR ?

T TR
(a)w,mﬁ_l — i ‘
(o) fgn ~ Zweg - ImEen
=] - »=
(d) ST YW —  FEFR

28. Fr=fufga # @ Hia-T weke gomsfia Siem
(Swefam) ® 7

(a) TESifeH
(b) TSt

(o) it

29. 2024 % 18 f wiwawT & AW FRaw =N #
TG BT ?

(b) 8

(c) 5

(d) 6
30. 19767 AT % qo HaeAl w1 FEEN T §
- @ form wfufy < degfoi % SR WS ¢

(a) HarforR afifa E4E

(b) o whfy B

() g™ wfAfT

(d) Tt g wfufa
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31.

34.

35.

(d)méaﬂﬁ@aﬁéaﬁr o
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Part - Il /am = I
General Hindi/emm=a &=

‘It U@ & ¥ R e sl e wfe
ﬁﬁ’lﬁﬁ'&%l I 9§ FYE e W

(a) H@?ﬁﬂﬂﬂﬁﬁﬁﬁ

(b)ahasarw%m:r &

Eﬁﬁgaam%

(b)wa@amwﬁ‘él
(c)%mmmﬁﬁ(m% |
(d)muwaq%%t{@wﬁ%ﬂ |

ﬁn%&gaﬁa""ﬁqmﬁﬁ%am‘
e fasiw @ 2

(@) E'EH‘"‘ﬁ

(d)wﬁﬁﬁﬁaﬁéﬂé’f

36. S W qeEH eE AT |
(a) =1

fase)

(d) = & & w1 T

37. ‘I %=1 i TS ® T ¥ % o suge v &
(a)wam EE
B
(c)“éawa»—-!n
(d) SR

38. Ti=iciREd & & HiN-91 vIeg ‘ST’ 1 A iEamE
e ?
(a) g
(b)i'q'qurr
(d)wﬁh‘-ﬁ

39. ‘wafua i ey
(a) Sfvaa
(b) wrafSEa
(c) aaf=fa

40. FA-1 : Tt v & 4 wieg <A TeoH FEA § |
HUT -2 : T w1se o1 foreel) wrradt & =t s
ﬁmaﬁ?@a%ﬁ%n %

(a) °F 2 WEl & O
b) % 1 9 2 QI T&l &
I;CIEFRFI 198 & I

(d) 29 1 92 1 Toid &

*T %



41, TR FERRIFA TR @R ? - A d

42. ﬁmﬁa&%ﬁw%m@ﬁm

*8 %
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46. Frafufiaa § @S- Rer-Re gm
T 7 ELSE

(a) T - k@ B
(b) =9 - FEfTH
(c) T - URe

47. T 9 IYE IR &
(a) 3=
(b) rTeit=ie
(ORISIEES

48, TrefeRaa fospedl & & “fony = waiEeT= @ &
(a) SiEata
(b) sfafa
(c) HHETIT

49. T ¥ Uiy wee fpw o =1 IS % @
I BT ?
(a) sreht wifer ot = wermt fomem 531 & |
p)stfrredadil
(d) St frmg A R = |

50, ‘FreE=R 1 o g

(a) e ELSE
(b) STEATR

(ORI
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Part — Il /s - [
Nursing (Ayurveda) /afn (sngE=)

51. HIV belongs to whlch group of Viruses ?

(a) Retro Virus _

(b) Rhino Virus

(c) Parvo Virus

(d) Adeno Virus :

52. Immed:ate!y afterde{wery weight of uterus i is |

(b) 900 gram
(d) 800 gram

' (a) 1000 gram

(c) 850 gram

53. What is the Vipak of Lavana Ras ?
(a) Amla Vipak ...

#(b) Madhur Vipak - |

(c) Lavana Vipak:-,
(d) Katu Vipak

54. In which of the following Vitamin K is found 2
(a) Cow milk
(d) Goat milk

55. Which of the fo!lewmg ‘Anjana’ is used
daily ?

(a) Rasanjana

- 56. “Half part of Chfi_?iisa”’ is said to be

a) Virechana (b) Vaman

51. SRE % o9 v @ .o o, wwfRm & -

(b) T TR
(c) vt T
(d) T SRy

52. SGF % GO ST TN B S A
(2) 10007 FEE () 900 7w
(c) 850 B (d) 800 7™

53. T @ U w= d 2
a) 3= fores

(C) T TS
(d) =g T

54. T & & fored Reefim K orn sman & 2
(a) T % gy

(c) Seft gy d
(d) w0 & qu &

55. freifen & & frm ‘siem’ = o R = § 2

(a)mrﬁﬁ E E

(b) e I
(c) =T _
(d) BT

56. ‘‘faferedm %1 smem wrr” wwr w2
(a) foR=m (b) =

am

*9%
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57. Which type of oral contraceptive can be
safely prescnbed during Lactation period ?

“(©) Mala—D ahd Mala — N
(d) Mala - N

58. Which of th;c}'_followmg Ahar dravya should

(a) Moong
(c) Yava | (d) Ghee

59. Which are Mental Doshas ?7
(a) Pitta, Kapha (b) Vata, Pitta

60. Which of the.v_j,ollowmg is synonym of
“SAMPHAPTI”
(a) Jati
(b) Agati
(c) Ayatan

(d) Both (a) and (b)

L2t

61. In Ayurvedigéasashastra Textbook, the
word “Ras” féfers to

(b) Abhrak

(d) Hirak

" 2. Which of the following is a part of “Ashtavidh
Pariksha” ?

(a) Darshan=.

- F(b) Nadi |
(c) Prashna: d) Sparshan

63. “Vara”is a synonym of

(a) Trikatu (b) Triphala
(c) Trimada (d) Trijataka

AZKU - 01

57. wm#ﬁr%wﬂq—vﬂnﬁﬁwrhﬁfﬂ
aaqu_f%m%?

(a)INF{T g

(C)W?ﬁ@w w
(d) wIeT - &
58, fm & @ fr TER g9 1 SR e few
ﬂé’fmmi%lz?
(@dn B
(c) 7@ o (d)a"f

59. WHE QY HA-9 § 7

(a) ﬁﬁ: =% (b) 91, ot -

60. Fr=fafea # ¥ S-wr “gwnfa’” &
it | ?
(a) Sfer
(b) Frwtfer
(c) J=E

§ (d) (a) 3R (b) Bl
61. FFIET WIS ¥ WK g Rrar i E R 7

B KlEED (b) 3T
(d) &
62. f A sH-T T ¢ Mﬂqﬂm"w%m
27
(a) = | (b) T
(c) == (d) =

63. ‘“Tu”’ ﬁmwwhaﬁ% ?

(c) B 'E!“.. (d) ﬁtmaaﬁ

*10 %




64. “Ovulation” occurs due to
(a) FSH surge
(b) Reduced level of FSH

(d) Reduced level of LH

65. Danta denoted as
(a) Nalakasthi
(b) Tarunasthi

(c) Valayasthi

are
(a) 20
()7

67. As per Acharya Sushruta, -E;ﬁwbilical cord
should be cut from how much distance ?

(a) 4 Angula (b) 6 Angula

| (©)8Angula | (d) 10 ARgula

68. Karan for Twin Pregnancy is_

(a) Karma of Purva Janam ';}
| (c) Vayu : |
(d) None of the above

69. Which of the following is NOT &*Adhameeya
Vega’ according to Charak 20
(b) Udgar s
(c) Shram Nishwas
(d) Vashp
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64. “‘INeRAvE"’ e HROT B § 7
(a) FSHafg ELSE
(b) FSH 1 %8 ww Eﬁé"

-

' (d) LH %1 %7 =%

65. T ! M &
(O ESEAE
(b) TEomiRY
(c) aamﬁiex

| (0) e |

66. T % IFIEAR ‘T’ F Ve By £

(@ 20 | e

(€7 (d) 4

67. ST Gy % SAFUR TR e 1 BT Reay
IS W HET =R ?

(8) 4 3T (b) 6 et
ICEEST BECRUE
68. Iua M w1 HROT &
(a) eI % %
—
(d) 3w & & i T

69. b % ITER fie= § § wH-a1 “Srurofiy v
TR 7 -
e
(b) ST _
- (c) = Fmm
(d) a7

*#11 %
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70. Trividh Roga are
(a) Nija, Aagantuja, Shalyaj
(c) Saririk,_Mansik, Tamsik
(d) Sharirik, Mansik, Shalyaj

71. Number of Adharniya Vegas are
(@) © (b) 6

72. Among the following agents uss_,:d for hand

hygiene, the most effective is

(a) Medicated soap
L Chlorhexidine based hand rub
fEihi (c) Alcohol based hand rub

(d) Povidone-iodine based hanq; Tub

73. “Ksheptavahirmalanam” is karmof
following

(a) Pitta
Vata

(c) Rakta

(dy Kapha &5

74. What is the dose of Kalka ? ;-
P (b) 1Pala

75. According to Sushruta, qualities of ‘Rakia’
are

c) Sheeta and Snigdha
(d) None of the above

AZKU - 01

70. ffye m E
(a) W=, AT, TS
(c) IR, Ffe, amis
(d) iR, AHS, AT

71. SRURCE 3 6 TS 7
(@) 9 [E (b) 6

T
, .-

72. 1Y Taedl % foe 3w foRd ST ST Sl
T ged gvTEl ®

(a) e T

b) TGRS UG &8
(c) JTewhiga STUTRA &8 ™

(d) NREF-RIEA e &8 ™

73. “‘Searafedamm’ eifaied § ¥ e
FER ?

(a) =
(c) T

(d) =%

74. e H YA HE &
a) 2T [EH#[E
‘&E il

75. GETEER TR 1 00 I 8
(a) I TS T
(c) ¥fa wa ey
(d) ST & & HIE T8

(b) 17
(d) 4 vt

*12 %




82. Which of the following dravya 13 NOT present
in Panchakol?

83. In which season sleeping in the day is NOT
contra-indicated ?

(a) Sharad Ritu___
J
(c) Shishir Ritu
(d) Varsha Ritu

84. Which of the following parameter is NOT
included in ‘Bishop Score’ ? -

(a) Cervical dilation
(b) Station

(c) Cervical Consistency

(d) Fetal Heart Rate |

85. Total number of spinal nerves-are

(a) 31 pairs (b) 12 pairs

ma
%3’(0) 33 pairs

86. Weight of the normal uterus IS
'
(b) 300 — 400 gram
(c) 50 - 60 gram
(d) 500 — 600 gram

(d) 30 pairs

87. The respiratory rate ofa newbom is normally
between o

(a) 20 - 40 breaths/min.
(b) 30 — 50 breaths/min.
C) 60 — 80 breaths/min.

d) 40 — 60 breaths/min.
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82. ﬁnﬁé‘fﬁﬂ—mgmqﬁaﬁaﬁ%?
| (a) wfea || E3E  (b) frorch
IEI.,. (d) T

(c) ==

83. ‘e’ % fpw mg § PRw i 2 -
(a) *E g
(b)
(c) farfem =g
(d) =i =g
84. Trfofed & ¥ wi9-m1 wwee ‘Revw w1 &
wfvioa a8 § 7
(a) e ST %1 e
(b) =M
(c) iz e i fmaT

85. U df=r (spinal nerves) %t o wea
fepertt R 2

(c) 3391

(b) 125
(d) 30

86. WM TMIA HT T 2
(b) 300 — 400 7T
(c) 50 - 60 ™
(d) 500 — 600 T

87. Taia Ry it = vage ot fra Bl @ 2
(a) 20 — 40 vama /fiFe E4E

(b) 30 — 50 v /fore Sk
(c) 60 — 80 m/ﬁm

L
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76. Salmonella Typhi is a Pathogen of

(a) Liver
(b) Small Intestine ..
(c) ) Stomach
(d) Large Intestma

77. ‘Which is correct about “Anupana” ?

(a) Gwen before medlcme
¢) Given with medicine

(d) None of the ab‘ﬁve

78. Which patient is NDT suitable for Swedan ?

(a) Kamala (b) Timir
(c) Udar “f7@) All of the above |

79. According to newborn care guidelines, what
is the recommended for placing a newborn to
sleep in order to: reduce the risk of Sudden
Infant Death Syndrome (SIDS) ?

(a) Supine posﬂzqna_

(c) Trendelberg posmon

(d) Lateral position

. G
£ Th

80. Which one of the following is a type of
patient's bed ? oy
(b) Credal
322 (c) Foot rest
(d) None of the above

81. Which of the followmg is NOT. described in
Ashtawdhiwsheshayatan by Charak ?

(a) Sanyog - (b) Upyog

(c) Rashi (d) Desh
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76. mﬁﬁwmﬁm’mﬂﬂmﬁw% ?

(©
(d)méﬁﬁé(#qﬁ

78. ﬁaﬁ%mﬁfﬁ%
(a) shmEI
© 3

(b)ﬁlﬁﬁ
o

79. qmﬁrgaﬁi@w%ﬁmﬁ&ﬁ%w
mmmW(StDS)%sﬁﬁnﬁm
= ¥ R e Ry w1 g H A TN
3 Ta) <t Ry B A R ?

(a) U e |
OEEEES

(c) SSremT Frred
(d) S e

80. ﬁmﬁﬁﬁ-mwﬁﬂmwm% ?

L=

(b) e
(c) e &
(d) s & @ HE T

81. aﬁﬁa@ﬁrﬁmﬁﬁmﬁﬁ@qﬁ
fFn R 7

] O

(C) tlﬁT iﬂu:-. (d) %ﬂ

%13 %
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88.

e TR

89.

90.

o1.

viii.

What should be.rertles of Anupana ?

to Dhatus _
El(c) have propetrties opposite to Ahar and

opposite to Bhatus
*(d) have properties like Ahar and not
opposite to Dhatus

Fatal form of Malana is caused by which
species of Plasmodlum 2

(b) Ptasmodlumylvax
(c) Plasmodium malaria

Which of the follewing is NOT a type of Nidra
according to Charak ?

(c) Ratri Swab,__h,gva Prabhava
(d) Aagantuki

Which of the following are qualities of
Upacharak or Pamcharak (Nursing Assistant)
according to Charak ?

i. Shrutparyawadat
ii. Dakshya _f
iii. Shauch

. Smriti

. Nirdesh Karitva

i. Abheeru

: Upacharagyata
Bahushodrlshtakarmata
iX. Anuragbhar’ggr\l

@i i v i

() vii i i v

(c) il vii i

(d) ii vii_ix

*i5 %
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[ (@) e & guﬁa;ﬁqﬂa e p—

o) STER 35 7ot & T v gt 3 e

(c) 3R 3 it & foulia & angasdi & fowdia
(d) SMTER & TUI % T TE G1g o feuda
ELl

80, TeTsHITaT 1 R TSR 3 ST ST R

BT e ?

(a) wISHITESTE SN
(b) =I=AITET ST
(c) =HIEm TATEn

90. w%mﬁw%ﬁaﬁﬁnﬁ%ﬂq-m

Hé’r %?

(c) LUER=EICRECl
(d) TRt

TEHF ITERS I IS & o e §
q aflq-%ﬂ €7 o

i, gaEae

ii. &

iii. 3=

iv. Sgfa

v. Féq =it
vi. 3nfie
vii. ST=IRETn
viii. SERIgEeHAaT
iX. STTTHAR
(@i i v
(b) vii
(o) ii

i i
iv
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92. How many typés of Upashaya is on

Aushadhanna:Vihar ?

(@) 12 T

(c) 15 - (d) 21

93. Which of the following pair is correctly

matched ?

(a) Patha : Stanyajanana
.., Mahakashaya

(b) Daruharidra: : Stanyashodhan
. Mahakashaya

(c) Shatavari : Stanyajanana

Mahakashaya

94. In which month, in Garbh more growth of
Mamsa and Shonita occurs ?

(a) Fourth mont
(b) Sixth month

(d) Seventh month

95. According to Vagbhatta the Annaprashan
Kaal in child is_
(a) 8 Months

D) & MOonNin

(c)1 Year d) 6 Months
96. What is numbé;:bf Uparasa ?

(@) 7 |b) 8

()5 (d) 6

97. Where is the headquarter of WHO situated ?
(a) New York _h
(b) London
(c) New Delhi -~

(d) Geneva §

AZKU - 01

02. m%'mm%mmﬁa
(a)12 o

()15  EE (d) 21
93. T gl § ¥ H-T1 v gafa 8 ?
() =ret

;. ST HEhNE

(b) TRERET  : TAIENER HEHNE

(c)maﬁﬁ‘ . TS HEERE

94, i & miw ©d v it i afy Few A §
AR ?
(a) =gl W
(b) 7 7=
(c) = "
(d) T T

95. TMWE F HFIER el ¥ FIIRH B &

(a) 84E (b) 4T
(©) 1

96. IRE PR B & ?

(@) 7 EISE

(c) 5 i

97. WHO 1 q&aTer el foa 2 7

(a) =ETs
(b) T
(c) =1 feeeft
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98. Which of the following is NOT a part of
Pregnancy material ? -

(b} thu

99. Which of the following is NOT a type of
Asthi-sandhi ?

_ (a) Vayastunda
(b) Pratara

(d) Mandala

100. Which seasons comes in Aadan Period ?
(a) Shishir, Vasant, Sharad
(b) Shishir, Vasant, Greeshm
(c) Varsha, Sharad, Vasﬁnt

101. Which of the followmg 45 mool of Udakvah
Srotas 7

(a) Hridaya, Talu
(b) Basti, Medra
(c) Amashaya, Yakrit

() Talu, Kioma B

;
102. By whlch method ESR ex“hmlnatlon of blood
is done ? >
(a) Sahli method

_—

.....

AZKU - 01

08. FrerfaRgd § ¥ sm-w miuRe R H WM
T ?
(a)%ﬂ |

(b) =3
(d) ¥

90, Fr & ¥ H-T1 Ay-uR F THFR TG B 7

(a) =TS
(b) IR

(d) . .

100. 3EM HTE § HHE-H Hgd A & ?
(a) TR, =@, T

. (c) I, ,aa?ﬂ
(d) S8, G, ¥H
101. il § 3 SF-u1 SehaE e W I © ?

(a) Td, TG ElE]
(b) af, g

(c) AR, Ipd

102. T %1 ESR wiew frm faftr & e smar & 2
(a) Teeh faf

(b) it fof

(o) e Rt

(d) T Tl

103, T QEAHER SRR N TEn

m

(d) 16

(a) 12

%*

(c) 20

17 %

gl
i 17 SR



104. According to Acharya Sushruta the speclflc
seat of pitta dosha is

(a) Adho-Amashaya

(b) Amashaya

(d) Pakvahaya

105. When International Nursing Day rs
elebrated

(b) 11th May

(d) 12th June

106. Which of the following drug is NOT a
component of Dashmool ?

(a) Shalaparni

By which of the following Typhafa infection
take place ?

(a) By insect bite
(b) By dust

(c) By kshavathu -
d) By mfed ater andfood

107.

108. Accordlng to Ayurveda, due to Iaﬁkof mother

milk, baby should be given
(a) Buffalo or Camel Mllk

b) Goat or Cow Milk _
(c) Camel or Horse Milk = - ¢+

satopy,

(d) Elephant or Buffalo Milk ==

109. Artava is derived from whlch D!Jatu as per
Sush ruta ?
(©) Shukra (d) Rasa, Rakta

*18 %
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104. =T QIR % U e S 1 faftee
H 8

(a) STEN-AET™
(b) o

(d) TRRE C

105. AT 79 9@ e R S R ?

(b) 117%
(d) 12~

53
(0)11'5,:_[ [EEE
106. = o & S-T1 557 T FI RH TG 8 ?
(a) SrTeTavfi
(b) o
(cmﬁﬁwﬁ
107, mmmﬁmﬁamaﬂ?

(a) e g0 gW

(b) eferroTt gr
(c)@ﬁasam

108. W@q%wﬁmaﬁqu
it

(a) 9 = St =
(b) it &1 T
(c) PIRCICIRCT]

(d) &R = ST =
109. GYAHER 3Tda 1 Fafn frg ag A g R ?

(d) @, &

@™ mum
(c) 'ﬁ [ H




ﬁ i
‘the most balwan (Guru)

110. Accordingto Charak; th
Kalpana in Panchavidh Kashaya Kalpana is

B5E @) Kwath L (b)
™ () Hima ~(d) Kalka
111. Vitamin A Prophylaxis Programme Was

launched in Indiain
(a) 1972
(c) 1962 “{(d) 1965

112. Important hormone"“_fﬂ;ji' Lactation
(Milk Production) is

(a) Estrogen

(b) Prolactin |
c) Frogseone
(d) Thyroid hormo

< 5
. b;a's

Select the related Word from the options

113.

given below. ord
Malaria : Plasmodium :: Kala azar :
(a) Entamoeba histolytica

(b) Wuchereria bancrofti

(c) Neisseria gonorthoea

o

d) Leishmania donovani |

Which of the foilowi?ié is NOT a part of ten

e points of Parikshya Bhava (investigation) ?
(a) Kaaran (b) Pravritti
1o} Kaem R

115. According to Chara?ﬁl?unsavan Samskar is
done in which Nakshatra ?
(a) Bharani — '

(©) Kritika
(d) All of the above

(a) 1972
(c) 1962 (d) 1965

112. mw:.(@ fmior) 3 RIT TEE A ©

113. ﬁarﬁﬁﬁﬁ%aﬁﬁawawaﬁml
TR ; TATSHISA @ e SR -
(a) et Rt
() ToRRET TR

114, Freafuien & & Sa-a qufa T W=

R
(a) RO ’E%E? (b) SR
(c) =W [El m

i15.am3€ngamémﬁsamﬁf‘m1m
- =Re ?

(a) SRt

‘(b)ﬁi

(c) BlwT

(d) s wft

*19 %



116. The best treatment for Pittaj Vyadhi is

(a) Vaman and madhu
(b) Basti and oil

(c) Virechana and oil

(d) Virechana and ghritpan

117.

(b) Kshaura Karma

(c) Padyoh Mala Marga Shuddl';i_}_;:'_ﬁ

(d) Padatra Dharana

118. Trisutra Ayurveda is

(a) Vaidya, Rogi, Paricharak
(b) Hetu, Lin a Aushadh]
:@ E—J (c) Satva, F%;Ija, Tama
B () Vata, Pitta, Kapha

119. How many numbers of bones are present
in appendages according to Acharya
Sushrut ?
(a) 240
(c) 204

120. Which is the dose of Phanta Kalban 5
) TPaa. .

121. According to Sushruta in which-month

“Buddhi” originate during intrauterine life of
foetus ?
(a) 4"

(c) 7™

AZKU - 01
116. ﬁm%ﬁﬁ%mmﬁm@ﬁ

(@ FFmy  [E5E
o) sRaadm EE
(c) =R g o=

———

117. “ofie gomgsd’ & Tuie Tt & foraes g

118.

119. =M YYAHAR IREadl # AR h wEn
wars T €
@20
(c) 204 (d) 206

120. BT FHoGT i AE fhal ® 7

mgm 1

€ 4ver EFE (d) 1%

121. gga ¥ sgan i # “gfg” H It fvw o
F e g ?

(@) 49
() 73

(b) 53
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122. According to Sushruta, the shape of
“Garbhashaya” is B
(a) Chilchim Matsya Mukhakar
b) Rohit Matsya MukhakJ
(c) Gomukhakar

(d) Shankha Nabhi

1. Expired medicines and cyfdtoxic drugs
should be disposed in red-bin.

2. Human waste should be a‘iﬁslbosed in
yellow bln

") only 1
(c) Neither 1 nor 2
(d) Both 1 and 2

124.  Which of the following methods is commonly
used for artificial respiration in cases of

respiratory failure ?

; a) Bag-mask vériti' ' =
(b) Incentive spirometry

(c) Nasogastric tube inser‘tiqﬁi‘j

(d) Heimlich manoeuvre

Lo

125. Temperature required for Autoclave of the

surgical instruments is

ka) 1 20 i 1 35 ¢ degree

(b) 80 —- 100 degree

(c) 95 — 115 degree

4 (d) 90 — 115 degree

AZKU - 01

122. gga%aagaﬁ:‘rmm"ﬁa@%ﬁmm
HENE ?

123. BMW Yeiea % gey o fimfaiiga sl | fommr

+ 3R Tl fepew g
TS I AT HIgH W T |

2. gFa SRS 1 Fuem fid HegH § H
|1 |

) ¥ 1
CELRES ¥

(d) 1 & 23H
124. v9& fawerar & el § Fefiea § 9 -4t
faftr wmr=ra: wepelt (Fhm) v % e s
ﬁm%? . .

125. W%%ngaﬁﬁsﬁ/ﬁ%amﬁﬁgﬁam

%mﬁﬁﬁmﬁmﬁfﬂ% ?

(b) 80 — 100 fegft
(c) 95— 115 et -

(d) 90 — 115 feuft
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126. According to Sharangdhar, how many
types of Aushadh aevan Kal are there ?

(c) 8 su(d) 6

127. Which of the following anticoagulant is NOT
used in blood smear ?

(a) Heparin -
(b) EDTA

128. Characteristic of “Vaman Atiyoga” is
(a) Vaman Vibhransa
(b) Aadhman and Parikartika -

LSVaman w:th néﬁ"hﬁénﬁhﬁé}

_'w*“‘ v

(d) None of the abave

}-

«

Hribmp

129. According to Sharangdhar which of the
following is example of “Grahi Dravya” ?

(a) Shunthi

(b) Gajpippali -
. (c) Jeerak ;_—;

(d) All of the above -

neepanily

130. According to Charak, the best Vishaghna
drug is

(a) Haridra (b) Marich

131. What is the Ieng’th~of fallopian tube ?
(a) 07 cm ,,z(b) 05 cm
(c) 12cm 1

AZKU - 01

126, e g ahe et PR e
TE ?
@5 & @ () 4
(c) 8 I ) 6

127. e forR # fe § & S -91 ThiRe ST
TS e ?
(a) feufa

(b)é?frit*q S

128.

(d)mﬂﬁ EEprpy

129. WTEER & IER f=fafea # @ wH-a1 “mE
5 HIGRI @ ?

(a) It

(b) TifoTeht
(c) Siih

= & AR I R g=a R

(a) &G .E%g (b) wi=

130.

T trtes

(d) e

131. FeIfeA eoqm i s foraet Bt § 7

(a) 07 9uft - (b) 05 &t

(©) 123h l@

*22 %
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132. “Hamsodak” Sevan is mentloned in which
Ritu ?
(a) Greeshm Ritu
(b) Hemant Ritu

') Sharad Ritu |

Varsha Ritu

133. When National Mental Health Programme
launched in India ? -

E (a) 1992
[l (C) 2002

(d)‘ 1972

oo

134. The “SARANA’ is the function of

(a) Dhamani

(b) Srotas

) Pashi

135. What is given to remove the Kapha situated

in Mukha and Kantha of Navajata Shishu
(New born child) ?

| (a) Honey
(b) Hot water

[ Seltand Bt
(d) Butter

138 According to Acharya Charak, totat number
of bones in body are

(a) 300
(c) 380

137. How many types of Bhesaja a.re._’%ére ?
) Two (b) Four -

AZKU - 01

130, ‘Zavew’ Vg N Seor@ Fha g o TR T
® 7
(a) 3w g #

LA

= "
Ekk.

133.

(a) 1992
(c) 2002

oy feae H B 7
(a) T=H
(b) Eia=

134.

(@

e TR 3 T T s i R T h AT
w0 % forg 7 fem S @ 7

135.

136. T =  IEER YR § e i gen
Bt & '
(@) 300 @em () 206
(c) 380 e, @l
137. O % fpaq THR E 7
) 2 (b) 4
d) 3

(d) Three

© Five

*23 %
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138. Technique of Bandaging is called

(a) Asmergia

s R T e e e !

Dysmergia |

c) raméﬂr-giia e

(d) Epimergia

139. How much space is indicated between beds
in the hospital wards ? Wl

&) 01 02 metres |
:EE E‘_,(b)os = 01 metre
l.r:u.

(c) 04 — 05 metres

(d) 02 — 03 metres

-related to
which disease ?

(a) Maha Shwas
(b) Udar Roga B

140. “Aaseno Labhate Sukham”

(c) Hriday Roga
(d) Tamak Shwas |

141. Where is the Khatwa bandh uséd 2

.......

(@) In Netragata Rog

A

(b) In Shankh Pradesh

(c) In Greeva Pradesh

(d) In Finger

142. The number of “F’aradi_ Guna”
(a) 20

AZKU - 01

138. &Y ST % a0 Bl HEd ©

ST ¥ 9% § e % Ay fham sww
SAE TR 7

139.

(b) 0.5 - 01\ i
(c) 04 — 05 =i
(d) 02 — 03 X

“ STl e gEw wE e st @
TEfRE g ?

(a) A1 39
(b) 3& A

140.

141.

142.

‘g Ten”’ < T |
(@20 E _EI

= o

Eb:t.

(b) 41

%* 24 %




143. In which season “D:vaswapna is

prohlblted ?

(b) Shishir Ritu
(c) Greeshm Ritu
(d) Hemant Ritu

144. At term, the proportion of placenta to foetus

is approximately
(a)1:4
(c)1:8

Which one of the following:%'a Guna of the
HOJAII ?

145.

= o) Ushna

- e ;

Ee () Lishna LY
(c) Teekshna
(d) Vishada

......

(a) Contamination

(b) Opportunistic infection

(& Dioplet infoction

147. Other name of “Ratri Swabﬁ‘ava Prabhava

Nidra” is g

Aot

(a) Aagantuki
(b) Papanl

c) Bhootdhatri
(d) Tamobhava

148. How many Guna of Manah ccording to

Acharya Charak ?
J 6 .
(e):2 e

AZKU - 01
143, ﬁm%‘gﬁ ﬁmﬁw aiia g ?

()ﬁ
(c) 7iteH =g #
(d) &5 =g A
144, Yod % Y99 WERE: A9 T e Ry
(@) 1:4 .E' {g} BB
Jies E%‘a @ 1:2
145, = fou T fompedl & @ - “Sisn =

146. Ear ® IR HsHA0T ) ShEl ST &
(a) TR :
(b)mﬁw(mﬁﬁﬁmw)
[ o) e s |

(d) ST AU

147.

RUERSUICR EEI R T R

(a) ST
(b) mq:h

148. =™ TRF F IR 7T F o1 §
(a) 6 g_g‘ (b) 8
e B oD



149. How many sites of ulcer are there ?
(a) 15 () 127 &5

() 6

150. In which of the following Varg daes
Amalaki come ? i

(b) Shak Varg
(c) Shushk Phal Varg
(d) Harit Varg

151. Consider the following statements with
reference to Dharaniya Vega : ...:

E4E 1. By the tenents of Jrimbha Vega, it

il

‘‘‘‘‘‘

causes Manyastambh, Ardit types of
roga.

Select the correct answer from the code

given below. P

Code : et

(a) Both I and Il

(c) Neither I nor Il ..

(d) Only I o

152." Which one of the following instrument is to
be used specially for holding the sterilized
items ?

(a) Cheatle’s forcep

(b) Artery forcep

(c) BabcockK’s forcep

(d) Allis forcep
153. Which of the followmg is Vata Shamak
Rasa ?
(a) Madhur (b) Lavana
0 Am

L= causes Vinam, Aakshepatypes of Roga. .

AZKU - 01
149, 9O % ot M EA € 7

(a) 15 (b) 12
© 6 (@ 8]
150. fr= & & 5w =l o e AT R 7
(a) & T
(b) 3mes =
(c) = %t
(d) sRa =i

51. gRoiE 377 % Hey § Fefafe wuEl | =R
HIRT
| SET 3 % gRer F foAT, &Y YER &

W& 2 |

I1. 99 T & YROT F TRIRGE, Aled IHR H
W& g |

99 ol ™ 52 @ T W g |

we EE

(@) Iwg e [

(AMITAI

(d) =t I

152. = # @ wi-a1 93 fasfidierd o™ #i whea
%@ﬁ@ﬁﬁ:ﬁﬂ'ﬂ@m% 7
a) Seed AT
(b) AT BRET
(c) ST HRAT
(d) TS BIET

153, A SH-AaAIHSE W R ?
(a) 7K 'EIEI (b)thFIT
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154. What is called the work done by a person
due to derangement of Bhi, Dhriti, Smriti ?

(a) Pragyaparadha }

EISEl (b) Atatvabhinivesha =
E} H g
3 (c) Murchha

(d) Sanyasa

155. In which disease is qugpsa therapy

indicated ?
(b) Kushtha i
(c) Gulma oy
(d) Raktapitta |

156. According to Achaliya Charak, how many
types of Bhuthounmag ‘?

a (

, . L

157. In which month Bala-Varna Hani occurs in
garbhini ?

(a) 5 months
~(c) 7 months

[T

b) 4 months
(o

i f°1’°ﬁi”9§i§;i§"10T a Maharas ?
(a) Shilajatu
(b) Sasyak
%

=y
&M% (d) Chapal

159. Which type of Pitta Dosha is associated with
vision ? L

(a) Ranjaka Pitta
(D) Alochaka Pitta |
(c) Bhrajaka Pitta
(d) Sadhaka Pitta

AZKU - 01

154, <, s Rt 3 i w safR < e
IV T HEA E 7

(a) TR ]
()=t

(d) F=mE

155, Spqea Faferea frm A § Pifde & 2
() T
(b) T
(c) TeH
() T

156. ST SRHTIAR Y=g  Foe TR & 7
@3, m (b) 6

@ -Et-:..-a : (d) 8

157. g e F TRih § ser-aut w1 B 2 7

(a) =W TR (b) =ig¥ urE
v

158. ﬁn%ﬁﬁq—mmﬂﬁ% ? |
(a) Rremsig

(b) ¥==h

(d) U=
159. gfe & fefafea # & $F-a1 fim g -
- a7
(a) o TU=T
(c) v Tud
(d) aers T
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160. Ryles Tube should be inserted at which level
to reach upto body of stomach ?

ELSE (b) 40 cm ¢
G (©)656m -+
(d) 60 cm

161. In the view of numbers of marma, select
incorrect pair. '

(b) Mansa marma"'f"_jj11

(d) Asthi marma -“1‘0

162. According to Acharya Charak how many
types of Unmada ?_ : _
(a) Three o
(c) Four

163. Which of the following is “Dharaniya Vega” ?
==%(b) Jrimbha

164. Breast feeding isicontira-indicated in which
condltlon ? u,_

(a) Apan Vayu
(c) Kshavathu

(b) Mother havmghfher

(c) Active herpes susnplex infection of the
breast

(d) Both (a) and (c)

165. Which poisonous_ substance is present in
“Sanjeevani Vati.2

(a) Vatsanabh \
(b) Bhallatak B

(c) Both (a) and (b

(d) Bhang

AZKU - 01

160. ST 3 ST e TEEA 3 TEeH S W T
TR T SIEHT =Neg ?

(b) 40 9.5
(c) 65 ..
(d) 60 | .H.

161. qﬁm%mﬁﬁwwaﬁgﬁm
() R i —41
(b) wiw TH — 11
(c) Gfr = — 20

o
J2T T8

162. mﬁw%mm%mﬁm%?
(a) .E',E' (b) &

(@) = -
163. T § @ 91 “arRofiE S 7 7
(a) 3UM 91Y . (b) S=

o [EEEL
164. W%&Mﬁaﬁﬁ% 2
(a) =TT HIV & g5l &t

(b) =TT =R & difga &

(c) & Active Herpes Simplex (T g
frdeg) A Ui &

(d) (a) T (c) I e §

‘Gl g8 eH-a Ry s BT R ?
(a) & L

(b) HewTh Iﬁ%ﬁ

(d) s

* 28 %




166. The cause of Sanyog and Vibhag and
situated in Dravya, known as-

i (a) Karma (b) Gana
" (0) Virya (d) Prabhava

167. Which of the following is NOT the type of
“Apasmar” ?
a) Pittaj

(b) Vataj
(d) Kaphaj

(c) Bhutaj

168. “T” Bandages should be usea for

3 h
St

(a) Clavicle

(b) Perineum nd groin

(c) Leg
(d) Head

169. Which.of the following is a primary goal of
Family Welfare Programmg;@fu India ?

(a) to provide universal access to
contraceptive methods

(b) to increase the national population

(c) to reduce the availability-of maternal
and child health services::.

Srgrt

(d) to promote large family gprms

NOT eaten fresh ?

(b) Haridra, Shunthi

(c) Shunthi, Vacha

(d) Kali Mirch, Badi Yela

AZKU - 01

166. S GIN TE fOUTT =7 SR 8 U9 g9 § oAHd
B, 39 T HEd 8 7

(c) & (d) e

167. = § @ SF-T1 ‘IR H TS AE & 7
(a) Tt (b) aTES
(c) T | (d) st

168. & S=F & W HW &
OESEERERNY

|(b) S 3R i % fore
(W& EIE
(d) B % R é'%"‘

169. WRA ¥ YNGR Hedmr HRHAI H TIE AL
ffafed & @ -T2 ?

e ———
Shi .

(b)trsaﬂzrmwﬁ
(c) g e Ty Trees s i SussHar Hi
T HET

(d) S8 IRERI & HHES! Wi sgET e

170. = & @ -4t iRt € ugu =& H
St § ?

(a) Treeh, amafegT
(b) BT, T ESE
(c) Juet, [
(d) reft firsf, 7 e
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% . DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO. ]

: 202 3 Question Booklet B:;de Serial No. :

CODE : AZKU - 01 ST LRI S S :
SUBJECT : GENERAL KNOWLEDGE/ E]Emm mim Hi :
GENERAL HINDVAYURVEDA ®

Part - | - General Knowledge : Q. Nos. 1 to 30 5009401 2
Part - I : General Hindi : Q. Nos. 31 to 50 pé
Part—1Ili : Nursing (Ayurveda) : Q. Nos. 51 to 170 ®
Time : 3 Hours Max. Marks : 85 @

& Wirite your Roll Number In numbers :
@ in the box —_— Py
@ In words b .
@ &
@ To mark Answer use Black Ball-point Pen only. bt
@ Signature &
@ Candidate must read all the instructions carefully before ~ of .
® \riting the answers. Invigilator e
® You are to mark your answer on Answer-Sheet only. After the examination is over, handover the :
Answer-Sheet to the Invigilator and receive candidate’s copy (Blue) from the invigilator. o
IMPORTANT INSTRUCTIONS ®

@

®

® 1. Answer all questions. All questions carry equal marks. OMR Answer-Sheet are kept inside the Quesﬁon:
Booklet. -

5. The candidate should indicate the correct Roll Number, Subject and Subject Code on the Answer-Sheet, ®
otherwise the Answer-Sheet will not be evaluated and the candidate will be solely responsible for it.

3. This Question Booklet contains 170 questions. Each question has four (4) options which are given
below the questions. Only one option is correct out of four. You are required to darken the circle
corresponding to the alternative which you consider to be the correct or most appropriate answer in the .
Answer-Sheet by Black Ball-point Pen. ®

4. Do not write anything on the cover page of the Question Booklet except Roll Number. Use the space ®
for rough work given in the last two pages of Question Booklet. .

5. If you happen to find that the Question Booklet Cum Answer-Sheet issued to you does not have all the o
pages properly printed or it has any other discrepancy, then you need to approach the Invigilator to get
another set of Question Booklet Cum Answer-Sheet. : -

6. In this Question Booklet, all questions of Part — | and Part — Ill are printed in both English and Hindi ®
languages. In casé of any ambiguity in the question, the English version of the question shall prevail.

7. Penailty for wrong answers : e
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE o
ANSWER SHEET. :

() There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will be °
deducted as penalty. b

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the g
given answers happens tobe correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that g
question. i

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
ST : SN T (3 TR 3 TeA—-YIEeHT 3 T 68 B ¢ |
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